Errata for:
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Chapter 3:

Page 39:

> M2 <- predict(M2, se = TRUE)

> plot(Depth16, Sources16, type = "p")

> I1 <- order(Depth16)

> lines(Depth16[I1], M2$fit[I1], lty = 1)

> lines(Depth16[I1], M2$fit[I1] + 2 * M2$se[I1], lty = 2)

> lines(Depth16[I1], M2$fit[I1] - 2 * M2$se[I1], lty = 2)

> par(op)

Should be:

> P2 <- predict(M2, se = TRUE)

> plot(Depth16, Sources16, type = "p")

> I1 <- order(Depth16)

> lines(Depth16[I1], P2$fit[I1], lty = 1)

> lines(Depth16[I1], P2$fit[I1] + 2 * P2$se[I1], lty = 2)

> lines(Depth16[I1], P2$fit[I1] - 2 * P2$se[I1], lty = 2)

> par(op) 

We used R versions 2.4 – 2.6 for the GAMs. Newer versions of R require the following R code for Figure 3.4:
fID <-factor(ID)  

M4 <- gam(So ~ s(De) + fID, subset = I1)

par(mar=c(2,2,2,2))

vis.gam(M4,theta=120,color="heat")

Page 60: The code for model M5 follows example code in Wood (2006), but it doesn’t work anymore since R version 2.7.1. Change it to:

M5<-gam(So ~ s(De)+

             s(De, by = as.numeric(ID == 13)),

             subset = I1)

See also the help file:  ?gam.models. The second smoother is not centred around 0, hence the factor is not needed. To see that this is indeed incorrect, change the gam into a gamm for the original code. You will get an error message in R versions 2.7.1 and higher. The online R code from all chapters that use the by command have been adjusted. 

Page 62: In the same way, in newer versions of R M6 should be:

M6 <- gam(So~s(De,by = as.numeric(ID== 8))+

             s(De,by = as.numeric(ID== 13))-1, subset=I1)

#And more simple code that gives the same predicted values is:

M6 <- gam(So~s(De,by = ID) + factor(ID),subset=I1)

Chapter 11
There is a little mistake in Equation 11.23, page 277. The mean and variance of a ZINB should be:
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We made a mistake with one of the minus signs.

R code for Figure 13.2.

The code for the data frame should be;

mydata <- data.frame(CLength=DeerEcervi$CLength,fSex="1",

                     fFarm=j)
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